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ASSIGNMENT
QUESTION 1
1a. The difference between Height of Collimation Method (HCM)  and Rise and Fall Method (RFM) are as follows:

HCM :It is more rapid and saves a considerable time and labour.
RFM : It is laborious as the staff reading of each station is compared to get a rise or fall.


HCM : It is well adopted for reduction of levels for construction work such as longitudinal or cross-section levelling operations.
RFM : It is well adopted for determining the difference in levels of two points where precision is required.

HCM :  There is no check on reduction of R.L. of intermediate stations.
RFM : There is a complete check on the reduction of RL of the intermediate stations.

HCM : There are only two arithmetical checks i.e. the difference between the sum of the fore sights must be equal to be the difference in R.L. of the last station and first station.
RFM : There are three arithmetical checks i.e the difference between the sum of the back sights and the sum of fore sights must be equal to the difference between the sum of the rises and the sum of the falls as well as it must also be equal to the difference in RL of the last station and first station.

HCM : Errors if any in intermediate sights are not detected.
RFM : Errors in intermediate sights are noticed as these are used for finding out rises and falls.  
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QUESTION 2
2a

	Chainage(m)
	0
	30
	60
	90
	120
	150
	180
	210
	240
	270

	Offset length(m)
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	3.75
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	5.85





Using Mid-ordinate rule:
A=hd 

h1= =1.325m

h2= =3.225m

h3= =3.775m

h4= =4.2m

h5= =4.125m

h6= =4.3m

h7= =5.4m

h8= =5.9m

h9= =5.925m


38.175m

d=30m
A=
= 
A= 


Using average ordinate rule

A=

n=9

d=30

41.2m

A=
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Using trapezoidal rule

A=



A=

A=
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Using Simpson's rule




Note: Last offset was removed because number of offsets were even








Calculating for last offset using trapezoidal rule

A=




Therefore 


2b
1.  A contour line must never simply end, except at the edge of the map.
2.  A contour line may never intersect other contour lines. Overhanging cliffs are the only exception. 
3.  Concentric circles of contour lines indicate a hilltop or mountain peak.
4.  Concentric circles of hatched contour lines indicate a closed depression.
5.  A valley is an elongated depression in the landscape that is formed by the action of water (V-shaped) or carved out by glaciers (U-shaped). Valley bottoms are represented by "U" or "V" shaped contour lines with their closed end pointing towards higher elevation.
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